1. Completethefo"owing:
3. 13,19,2531, 2373 . U7

b 25303540, 46 , 5O
¢ 73,70,67,64, ¢y , £4 d. 25201613, {f , 10 -
f
h

e- 1, 3' 6, 10' I 5 :! 1 1/4) gl 16_2—5—-——"——31——
B 6122448 _4¢ |, 4g9 13,927, 81 .43 |
. 100,109,118,127, | 3, 1ys j.2,20,200,2000, 20000 , 200000

k- 2,12,72,4329599 | 15559 | 180,172,164,156, {48 |, 149
2. Whichofthe following numbers can be arranged in a triangular pattern?
b. 5
e. 77
=

4.  Completethe patterns:
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phserve the patternand find the missing umber:
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b,

1|cL (/) the correct cholee ¢
L 23591733,

a. 06 b. 65 c. 50
1 12,5.10,6,10,7, ;
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